Efficiency vs dr

0.2

efficiency vs AR

© © o o

Ratio

KEPI
I ;aujt

I efaultNEWTOLDSAMPLE
0.8H - iR T T

0.6 g Z ----- LI {

1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |

§ 0.1

0 0.09

=

o

z 0.08

£20.07

>

20.06

@

o

£ 0.05]

3]
0.04

0.03

0.02

0.0
lG-

Ratio
=

1073 1072 107t
AR(TP, jet)

0.2

.................................................

-

o
o <
[¢2]
TT [T T[T [T [ Ir[TTIT]

T i st
1 it ¢
10 20 30 40 50 60 70 80

i
Pileup

Ratio

N -

0.8

O



	Contents
	Page 1


